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T4 kB ¢ Matthew, Patrick B., et al, (1999), “insolvency, will Historic Trend Return? Best's

Review, P/C, March 59-67
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Why do we need capital

‘ Premium/
o expenses

‘ -
Expense -
K Ratio 25 %, -~
/ -~ losses
- .
. P 4 loss ratio
* e - 65%

Kauow

capital
. 11
8 2 PRI A B time

- I,[:E{[_L‘;g"izé, _F.J;\: ‘H\Eij;y- APITP

1. TP= Target Prlce lfx BV R EL
FARPF S 126 2 R R FokB
2. AP= Actual Price : § % & ¥ 1182 %

e
If AP/TP >1, then Combined Ratio < 1
4. |f AP/TP <1, then Combined Ratio > 1
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BN s D fr = fIE + 2k

2. ' 25),@;#@‘?']@ %? ! ROE 16%, ROE
12% or ROE 10% (Capital Allocation ?7?)

3. Efl - RFRE = ppfie

4 PRI H [0 0IE R BIE Re TR
RACHER G+ PR+ FTFRE ] =k

% J< > (Target Price)
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5. FHAIE +[Z G| BFHERFIAFER
01 mRar - [V OIE RRHEE &4
3=¥% * ] (Bottom Line Price)

6. FrRAIE + ARR*= ®Rk>» - BFR?
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FHFAA MG EALFENIRA

T. W% Jz » (Target Price)/Exposure or TSI =
Target Rate.

8. Pikfl® +[A Vol FRHERFIAEER
Fr]=%Bdr - [MHRFERRHED £+
=% * ] (Bottom Line Price) / Exposure or TSI
= Bottom Rate.
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’} % '/F“\‘ E7j 1%/ b-3 Underwriting Financial Model
Table 1 - 5 HiFzE Table 2 - {#£EYI53%
B¥ = 3 E AT Invested
1 T HFY Premium 19,753,647,000 A [Assets 46,380,851,100
E 1 ¥ psEE (3% Retention Earned
2 Premium 9,288,306,000 B YEHu s Surplus 30,000,653,100
RESURE kgl
3 H#1K £ %8 Loss Incurred 5,387,863,000 C Invested Assets to Surplus 1.546
4 S R4R] Expense 3,106,010,000
& "% Combined Loss plus AR5 After tax
1
5 expense 8,493,873,000 D [invested Return 5.000%
6 % & 55 4% Combined Ratio 91.45%
BT e 1 BV
= After tax Investment
7 BB pNAliaE Surplus 30,000,653,100 E [Return as a % of Surplus 7.73%
W B R
8 Premium to Surplus 30.96%
B AR S My I
Pretax Underwriting Gain (Loss)|
9 as a % of Surplus 2.648%
HEp A IS Total
After tax return on
10 YA Tax Ratio 25.00% F Surplus 9.716%
5% Y P R Ml
After Underwriting Gain (Loss)
1 as a % of Surplus 1.986%)
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FRET O A R RE 0 K-k R R P KT
REFIFR TR IS BN

1. £ ¥ 3782 (DCF,Discounted Cash Flow)
2. P A3F P F Z (IRR, Internal Rate of Return)

FHAT : LRI P Ff I T FRBE A RSP RIS
B R 2752008 £ 4 7 15 7 No. 17
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R & FEHFTHIE DCF

PV(%%) = PV(% #) + PV (SZRedf4) +
PV(#R* )

- PVAFRE
© FERZHR R T EAANARLIRE > REYD
FREGHFIR
© FAERCNITA B RE > REREREITRSF
R
FHER L REHE [ FfT P ERF AR TR RFE]
B £ R 252008 £ 4 4 15 1 No. 17
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'[P IRR

Fgd PVORKLF2E) PVEFR) 2
PV (Z&AIE) ka2 o

LABEFPF =(FEFPFXFGHE)+ (1
TR X KL EE TS )

FHAM: L RFHFFi0 FRFABYFEARLP R
B R A2352008 £ 4 ¢ 15 7 No. 17
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[+ BPFIF IRR

WA E R
= (REBRFTRE + RRJIR)/ Tioka @5
=(RBRFTIE / TBELEE)+ (BFfR/ T
BPRLEE)
= (FEEPIxX (TRE & [T5% 1 5)) +(
PRl x(p FFR [ THELEE))
HFEFPFXFEFR)F(PRFEXFLES
AR )
FHER . ELBRPEFFIAER TR F £ RE PR
B %2R 42552008 £ 4 ¢ 15 7 No. 17
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R IR £ 3G
Economic Profit after tax =4
Economic = NPV (net earned premiums — net ultimate losses —
profit after tax net expenses + capital benefit) * (1-tax rate)
Economic profit (USD MM)
2'000
NEP
NEP  Discount Claims
Claims
Discount Expenses
Capital
Expenses gzg;g{ B:E:e:t Economic
Discount Discount _Tax _ profit AT
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Example of a Calculation on RBC basis
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Economic Profit Plan 2006

Premium 208.4 NPV =210 * V14

Expense 97.1 NPV =99 * V12

Claims 91.4 NPV = rZIl(Claims Paid in year t) * V (-12)
Economic Profit B8  nev-2084-97.1-914

Capital Benefit Plan 2006

Capital Benefit ! Z(RBC . * Risk Free Int. Rate, * vk
k=1
23
H IR pIERFE AR A G
. . [+ §
Example of a Calculation on RBC basis
AY Plan 2009 RBC
Premium RBC 23.2 X (NEP * Factor) * Diversification benefit
NPV Reserve 12.1 ¥ (Projected Reserve * Factor) * v * Diversification Benefit
RBC ot tos
NPV Operational 0.5 (NEP-Exp) * Factor * Diversification benefit
RBC
0.5 2 Projected Reserve * Factor * vk * Diversification Benefit
k=1
NPV Reinsurance 3.7 X Projected RI Asset * CRM* vk * Diversification Benefit
RBC k=l
Business RBC 8.1 NWP * business risk factor * Diversification benefit
CY Cat risk RBC * Diversification benefit
24
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Example of a Calculation on RBC basis

RBRM Calculation

RBRM = Economic Profit 19.9
+ Capital benefit 53
25.2
Less tax at 18% 20.7
Divided by NPV RBC  [[TI38%
14.9%
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